
TABLE 6-44.  Unintentional Injury Deaths for Selected Causes,
by County of Residence, Oregon, 2010

County of
Residence

Total1
Motor

Vehicle
Falls

Poison -
Drugs2

Poison -
Other3

Drowning
Water

Transport4
Fire

Total ............... 1,557 324 535 326 57 63 4 17

Baker .............. 9 1 3 2 1 – – –
Benton ............ 17 3 7 2 2 1 – –
Clackamas ...... 142 28 57 29 – 6 – 2
Clatsop ........... 20 – 7 8 – 1 – 1
Columbia ........ 21 7 5 6 – 1 – –
Coos ............... 45 12 13 9 1 – – 1

Crook .............. 12 2 6 1 – – – –
Curry ............... 19 5 5 4 – 2 – 1
Deschutes ...... 65 11 24 17 – 1 – –
Douglas .......... 57 21 14 8 2 2 – 2
Gilliam ............ – – – – – – – –
Grant .............. 3 1 – – – – – –

Harney ............ 9 3 3 – – – – –
Hood River ..... 7 – 4 – – 1 – –
Jackson .......... 92 22 40 15 3 1 – –
Jefferson ......... 16 7 4 1 – 2 – –
Josephine ....... 53 11 18 7 2 2 1 2
Klamath .......... 29 5 9 8 3 – – 1

Lake ................ 1 – – 1 – – – –
Lane ............... 147 24 62 29 3 6 – 1
Lincoln ............ 28 6 7 6 3 2 – –
Linn ................. 60 9 21 12 1 1 – –
Malheur .......... 7 2 1 2 – – – –
Marion ............ 125 27 30 33 8 7 1 1

Morrow ........... 6 2 3 – – 1 – –
Multnomah ...... 284 48 85 85 17 19 – 1
Polk ................ 25 8 7 5 1 – 1 –
Sherman ......... – – – – – – – –
Tillamook ........ 17 3 8 1 1 2 – –
Umatilla .......... 37 12 9 4 2 – – 1

Union .............. 12 3 3 4 – – – –
Wallowa .......... 7 2 2 – – 1 – –
Wasco ............ 14 3 8 1 – – – 1
Washington .... 135 25 63 16 6 1 1 2
Wheeler .......... 2 1 – – – – – –
Yamhill ............ 30 9 7 9 1 1 – –
Unknown ........ 4 1 – 1 – 2 – –

1 Includes all unintentional injury deaths, not just those in the seven categories shown.
2 Includes overdoses from all drugs/medications; ICD-10 codes do not distinguish between illicit and licit drugs.
3 Includes poisonings by substances other than drugs, such as carbon monoxide and alcohol.
4 Includes both drownings and other mishaps, but not voluntarily jumping from a watercraft.
– Quantity is zero.


